
Model # MCP-S-DSP Instructions Sheet

www.belson.com

SMALL OUTDOOR MESSAGE CENTER

627 Amersale Drive
Naperville, IL 60563

Phone: (800) 323-5664
Fax: (630) 897-0573

sales@belson.com

http://www.belson.com/
http://www.belson.com/Small-Single-and-Double-Sided-Message-Centers-with-Recycled-Plastic-Frames
http://www.belson.com/Small-Single-and-Double-Sided-Message-Centers-with-Recycled-Plastic-Frames


www.belson.com

BEFORE ASSEMBLY, PLEASE MAKE SURE ALL COMPONENTS ARE INCLUDED.

( 1 ) - ONE FASTNENER PACK

( 1 ) - ONE MESSAGE CENTER

( 1 ) - ONE POST



2 - LOCK KEY

www.belson.com

1  -  9/16” SOCKET WRENCH

ALSO NEEDED FOR THIS ASSEMBLY WILL BE THE FOLLOWING MATERIALS:

3 - #12 X 2” FLAT HEAD PHILLIPS SCREW

BEFORE ASSEMBLY, PLEASE MAKE SURE ALL FASTENERS ARE INCLUDED.



3/8” FLAT WASHER

3/8” X 4” HEX HEAD LAG BOLT

www.belson.com

STEP #1:
OPEN THE ACCESS DOORS AND PLACE THE MESSAGE CENTER ON TOP OF THE POST BEING SURE TO
ALIGN THE PRE DRILLED HOLES WITH THE PILOT HOLES. PLACE ( 1 ) - ONE 3/8” X 4” LAG BOLT
AND (1) - ONE 3/8” FLAT WASHER PER HOLE. SECURE THE BOLTS TIGHT BEING CAREFUL NOT TO
OVER TIGHTEN THE BOLTS.


